8YZ viE

/G88TT60 Jaquinu yed

Vectra B HB/NB MY 99

M10x125

10,5x30x3
10,5x30x3

M10x105

10,5x30x3

10,5x30x3
M10

Typ|[314 248 Kiasse | A50-X
| '\) /(@/13X24X2’5 Gen.zei| | €13 | 00-0472
M12x75 M M12x75

Kupplungskugel mit Halterung
e Made in Germany Baujahr

WESTFALIA-WERKE-WIEDENBRUCK

50/98




/G88TT60 :4aqwnu ued

w2
[(ﬁ) 1x B1x

Q

5x
1x

(4x) M10x30 (8.8)
(3x) M10x105 (8.8)

(2x) M10x125 (8.8)

(2x) M12x75 (10.9)

(3x) 13x24x2,5

(18x) 10,5x30x3
(9x) M10 (8)

(2x) M12 (10)

@@@@%X%%




/G88TT60 :Jaquinu Jed

NNNNNNNN N,

{ ]
\_e1300-0472 /

D-value: 9,3 kN

max. 1700kg

75 kg




part number: 09118857

(8.8) =46Nm
(10.9) =115Nm

M10
M12




/G88TT60 :Jaquinu Jed




ed

LS88TT60 4aquinu 1




/G88TT60 :Jaquinu Yed

M10x105 10 (2x) M10x30

& (3x) M10x105
= (5x) 10,5x30x3

(3x)

(2x) M10
= (2x) 10,5x30x3

©® @

LH




/G88TT60 Jaquinu ued

M10x125

M10x125 JU)

& (2x) M10x30
& (2x) M10x125
= (4x) 10,5x30x3
(2x)
W S
\
RH

& (2x) M10
= (2x) 10,5x30x3

® @




/G88TT60 Jaquinu yed

(3x) M10

= (3x) 10,5x30x3




/G88TT60 Jaquinu yed

(2x) M10
= (2x) 10,5x30x3




/G88TT60 Jaqwnu yed




